3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 dl416 flush steel door.dwg

REPUBLIC DOORS AND FRAMES

DL 418 OUTSWING GLAZED STEEL DOORS AND ME 416
FRAME WITH SIDELITES AND TRANSOM

INSTALLATION NOTES:

1. ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN, UNLESS OTHERWISE STATED.

2. THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE
MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT
INSTALLATION.

3. INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A
TOLERANCE OF +1/16 INCH OF THE DEPICTED LOCATION IN THE
ANCHOR LAYOUT DETAIL (I.E., WITHOUT CONSIDERATION OF
TOLERANCES). TOLERANCES ARE NOT CUMULATIVE FROM ONE
INSTALLATION ANCHOR TO THE NEXT.

4.FOR INSTALLATION INFORMATION AND ANCHOR LAYOUTS REFER
TO SHEETS 2, 3, & 4.

5. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL
FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, BRICK
VENEER, AND SIDING.

6. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A
CORROSION RESISTANT COATING.

7. FOR GROUT FILLED BLOCK, DO NOT INSTALL INSTALLATION
ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE IS MEASURED
FROM FREE EDGE OF BLOCK OR EDGE OF MORTAR JOINT INTO
FACE SHELL OF BLOCK.

8. INSTALLATION ANCHORS SHALL BE INSTALLED IN
ACCORDANCE WITH ANCHOR MANUFACTURER'S
INSTALLATION INSTRUCTIONS, AND ANCHORS SHALL NOT BE
USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE
MINIMUM STRENGTH SPECIFIED BY THE ANCHOR
MANUFACTURER.

9. STEEL COMPONENTS SHALL BE COATED OR PROVIDED WITH
CORROSION RESISTANCE PROTECTION.

10.INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS

HEREIN ARE BASED ON SUBSTRATE MATERIALS WITH THE

FOLLOWING PROPERTIES:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.42.

B. CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI.

C. GROUT-FILLED CMU - UNIT STRENGTH CONFORMS TO ASTM
C-90 & GROUT CONFORMS TO ASTM C 476. GROUT SHALL HAVE
MINIMUM COMPRESSIVE STRENGTH OF 2000 PSI.

1.

GENERAL NOTES:

THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO
COMPLY WITH THE 2018 INTERNATIONAL BUILDING CODE (IBC) AND
INTERNATIONAL RESIDENTIAL CODE (IRC) AND HAS BEEN EVALUATED
ACCORDING TO THE FOLLOWING:

e ASTM E330-14

e ASTM E1886-13a

e ASTM E1996-14a

ADEQUACY OF THE EXISTING STRUCTURAL CONCRETE/MASONRY, 2X AND
STEEL STUD FRAMING AS A MAIN WIND FORCE RESISTING SYSTEM CAPABLE
OF WITHSTANDING AND TRANSFERRING APPLIED PRODUCT LOADS TO THE
FOUNDATION IS THE RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF
RECORD FOR THE PROJECT OF INSTALLATION.

2X BUCKS (WHEN USED) SHALL BE DESIGNED AND ANCHORED TO PROPERLY
TRANSFER ALL LOADS TO THE STRUCTURE. BUCK DESIGN AND INSTALLATION
IS THE RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF RECORD FOR
THE PROJECT OF INSTALLATION.

. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC AND MAY NOT

REFLECT ACTUAL CONDITIONS FOR A SPECIFIC IF SITE CONDITIONS CAUSE
INSTALLATION TO DEVIATE FROM THE REQUIREMENTS DETAILED HEREIN, A
LICENSED ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

. APPROVED IMPACT PROTECTIVE SYSTEM IS NOT REQUIRED TO PROTECT

SYSTEM IN AREAS REQUIRING IMPACT PROTECTION.

FRAME MATERIAL: STEEL 16 GAUGE (0.053") MIN.
DOOR MATERIAL: STEEL 18 GAUGE (0.042") MIN.

DESIGNATION "X" STANDS FOR THE FOLLOWING:
X: OPERABLE PANEL

. ALTERNATE LOCKING AND OPERATING HARDWARE MAY BE USED SUCH

THEY ARE CURRENTLY APPROVED UNDER A SEPARATE APPROVAL.
INSTALLATION SHALL MAINTAIN THE MINIMUM REQUIREMENTS &
LIMITATIONS OF USE OF THE SEPARATE COMPONENT APPROVAL AND THE
DETAILS HEREIN. THE LESSER DESIGN PRESSURE AND RATING OF THE
COMPONENT APPROVAL AND APPROVAL HEREIN SHALL GOVERN.

STEEL DOOR CONSTRUCTION:

TABLE OF CONTENTS

SHEET SHEET DESCRIPTION

INSTALLATION & GENERAL NOTES

ML ELEVATION, ANCHOR LAYOUT, BOM & DETAILS

CYL. W/ DB ELEVATION, ANCHOR LAYOUT, BOM & DETAILS

SVR ELEVATION, ANCHOR LAYOUT, BOM & DETAILS

VERTICAL SECTIONS

HORIZONTAL SECTIONS

INSTALLATION & REINFORCEMENT DETAILS

CORNER, MULLION, DOOR CORE, & GLAZING DETAILS

|| NV ]| |WIN|F

COMPONENTS

[y
o

QUALIFIED CONFIGURATIONS & BOM

THE OVERALL PANEL THICKNESS IS 1 3/4 INCH THICK. THE DOOR HINGE AND LOCK VERTICAL CHANNELS ARE
1.677" X 0.620" X 93.500" INCH WIDE AND ARE CONSTRUCTED FROM 16 GAUGE (0.053" THICK) COLD-ROLLED
STEEL. THE DOOR TOP AND BOTTOM HORIZONTAL END CHANNELS ARE CONSTRUCTED FROM 16 GAUGE
(0.053" THICK) COLD-ROLLED STEEL. THE DOOR SKINS / FACE SHEETS ARE CONSTRUCTED OF 18 GAUGE (0.042"
MIN. THICKNESS) COLD-ROLLED STEEL AND ATTACHED TO THE END, HINGE AND LOCK CHANNELS. THE DOOR
CORE IS CONSTRUCTED OF TYPE 99-0-3/4 KRAFT PAPER HONEYCOMB CORE AND ATTACHED TO THE FACES
WITH GLUE. THE DOOR HINGE REINFORCEMENTS ARE 1.375" X 4.500" AND ARE CONSTRUCTED FROM 9
GAUGE (0.132" THICK) COLD-ROLLED STEEL. THE CONTINUOUS HARDWARE REINFORCEMENTS ARE 1.677" X
6.00" FORMED AND ARE CONSTRUCTED FROM 14 GAUGE (0.072" MIN. THICK) COLD-ROLLED STEEL. THE
DOOR EXIT DEVICE REINFORCEMENTS ARE 1.677" X 5.313" X 14.000" AND ARE CONSTRUCTED FROM 14
GAUGE (0.072" MIN. THICK) COLD-ROLLED STEEL. THE DOOR CLOSER REINFORCEMENTS ARE 1.677" X 6" X 18"
AND ARE CONSTRUCTED FROM 14 GAUGE (0.072" MIN. THICK) COLD-ROLLED STEEL. THE INACTIVE LEAF
ASTRAGAL IS 1.700" X 95.125" AND IS MADE UP OF 14 GAUGE (0.072" MIN THICKNESS) COLD ROLLED STEEL.
THE CYLINDRICAL LOCK REINFORCEMENT IS 3.000" X 2.500" 16 GAUGE (0.053" MIN. THICK) FORMED STEEL.
THE DEAD LOCK REINFORCEMENT IS 3.000" X 3.000" 16 GAUGE (0.053" MIN. THICK) FORMED STEEL. THE
DOORS WERE ASSEMBLED WITH VARIOUS HARDWARE OPTIONS AS SHOWN ON SHEETS 2, 3, & 4 WITH
APPLICABLE REINFORCEMENT DESCRIBED ABOVE.

FRAME CONSTRUCTION:

THE FRAMES & MULLIONS ARE CONSTRUCTED FROM 16 GAUGE (0.053" MIN. THICK) COLD-ROLLED STEEL
AND HAVE A DEPTH OF 5.75". THE CORNERS ARE MITERED KNOCK DOWN AND WELDED. THE FRAME CORNER
REINFORCEMENTS ARE KNOCK DOWN WITH SLOT AND TAB TYPE CONSTRUCTION. THE DOOR FRAME HINGE
REINFORCEMENTS ARE 7.50" X 1.625" AND ARE CONSTRUCTED OF 9 GAUGE (0.132" MIN.) COLD-ROLLED
STEEL. THE BASE ANCHORS ARE 1.875" X 1.875" AND ARE CONSTRUCTED OF 16 GAUGE (0.053" THICK MIN.)
FORMED STEEL. THE MULLION REINFORCEMENTS ARE 5.750" X 0.750" X 120" C-CHANNELS CONSTRUCTED OF
16 GAUGE (0.053" THICK MIN.) COLD ROLLED STEEL AND ARE FOR USE IN ALL MULLIONS GREATER THAN 4'IN
LENGTH.

DESIGN PRESSURE RATING FOR GLAZED DOOR ASSEMBLY

DESIGN PRESSURE ALL SIZES MISSILE IMPACT RATING

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

398 E. DANIA BEACH BLVD., STE. 338
DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

BUILDING DROPS, INC.

& ME416 FRAMES

DL 418 GLAZED DOORS
INSTALLATION & GENERAL NOTES

PREPARED BY:
L

TITLE:

JBUILDING DROPS

REMARKS BY | DATE

2018 IBC UPDATE CA 3.28.224

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

‘\‘ B

“ﬁ@@%gs

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

Digitally signed by Hermes F. Norero, P.E.
Reason: | am approving this document
Date: 2022.05.27 13:37:51 -04'00'

pate:  03.17.17

. SMALL & LARGE
+50/-50 PSF WITHOUT WATER MISSILE

INFILTRATION IMPACT RATED

*UNIT SHALL BE INSTALLED AT LOCATION PROTECTED BY OVERHANG SUCH THE OVERHANG RATIO (OH)

= OH LENGTH/OH HEIGHT GREATER THAN 1.0 WHERE WATER INFILTRATION IS REQUIRED.

DWG. BY: CHK. BY:
MSS HFEN

SCALE: NTS

owe. . RDF020

SHEET:

1

OF 1M




3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 dl416 flush steel door.dwg

*FASTENERS SHOWN ARE TYPICAL/MINIMUM \
oors-frames
MAX BILL OF MATIERALS
24.000 47.000 24.000 Item Qty Description Material Dimensions {in.)
MAX MAX MAX 1A 1PR__ |705.750 DOUBLE SWING JAMB PAR 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 86.000 (formed)
6.000 — L 6,000 6.000 — L 6.000 1B 1PR__ |305.750 DOUBLE SWING JAME PAR 16 GA COLD ROLLED STEEL 1053 min. % 5.750 X 36.000 (formed)
9.000 —-1 [ 5 000 9.000 -1 [ 5 000 2 1 98" 5.750 2" FACE DOUBLE OPENING HEADER 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 98.000 (formed) 155 REPUBLIC DRIVE
| . HI T : 'IHII e 28 2 27" 5.750 2 FACE DOUBLE OPENING HEADER 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 27.000 (formed) MCKENZIE, TN 38201
1 11 I I rd 3 1 MULLION 96" X 2" FACE 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 96.000 (formed) PH: (800) 799-3667 FX: (731) 352-2556
5.000 ) 1 MULLION 24" X 2" FACE 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 24 000 (formed)
D @ | 5 2 MULLION 24" X 2" FACE 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 24 000 (formed) .
T B 6 2 MULLION 122" X 2" FACE 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 122.000 (formed) R U w
7 2 4" SILL 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 24 000 (formed) = Z o
22000 /. 45.750 MAX / TRANSOM / 24.000 8 2 HINGE REINFORCING FRAME 9 GA COLD ROLLED/HOT ROLLED STEEL | 132 min % 7.50 x 1.625 2 — £
:000 TRANSOM DLO 9 2 BASE ANCHOR 16 GA COLD ROLLED STEEL 053 min. X 1.875 X 1.875 (formed) %) Q nog G
36.000 MAX DLO WIDTH HEIGHT @ 10A 2 TOP CHANNELS 16 GA COLD ROLLED STEEL 1053 min. x 1.677 x 620 x 47.563 formed ¥ e O SRRAE
oc 108 2 BOTTOM CHANNELS 16 GA COLD ROLLED STEEL 1053 min. x 1,677 x 620 x 47 563 formed own = 0z2335%g
i / / — 10C 2 HINGE CHANNELS 16 GA COLD ROLLED STEEL 1053 min. x 1.677 x 620 x 93,500 formed o u ﬂoﬁ 2] [T
5.000 10D 2 LOCK CHANNELS 16 GA COLD ROLLED STEEL 1053 min. x 1.677 x 620 x 93.500 formed 0= £3 0ggzs:
N 1A 2 LAMINATED GLASS (34.750 X 75.000 X 312) Old Castle LAMINATED GLASS 34.750 X 74.750 X312 ol oF LR
| 1B 2 LAMINATED GLASS (24.000 X 80.000 X 312) Old Castle LAMINATED GLASS 23.750 X 79.750 X 312 mr =z« S<zoxE
= = 11C 2 LAMINATED GLASS (24.000 X 36.000 X .312) Old Castle LAMINATED GLASS 23.750 X 35.750 X 312 NIl =zzZgs
30.500 22,000 11D 2 LAMINATED GLASS (24.000 X 47.000) LAMINATED GLASS 23.750 X 46.750 X 312 <© >3 Q33 &
: wiax m 12 2 AR LOUVERS (VLF-IGHRC) GLASS KIT 34.000 X 75.000 J5 0SS = s
oc 13A 1 DORMA MLS953D MORTISE LOCK MORTISE LOCK Ow Eo D3
6 13E 1 47/8" ASA STRIKE STEEL ©S <92 |-
@ 13F 1 DORMA 426 STRIKE PLATE STEEL S o et o 4
56.000 d 14 1 ROCKWOOD 585 SURFACE BOLTS 2 2 o =
124.000 14A 1 DORMA 340 STRIKE PLATE STEEL a - w e
MAX \ . 15C 2 CLOSER REINFORCEMENT 14 GA COLD ROLLED STEEL 1072 min. X 1.677 X 6.000 X 16.000 (formed) s [ L] =
24.000 / / | -625 15E 2 FULL HEIGHT LOCK CHANNEL REINFORCEMENT 14 GA COLD ROLLED STEEL 1072 MIN. X 1.677 X 6.000 X 93,500 (formed) L I =
81.500 m MAX 73.250 Ll TYP 16 4 DOOR SKINS (PROJ. WELDED ON 2 1/2 CENTERS TO CHAN'Ls) |18 GA COLD ROLLED STEEL 042 min. x 49.515 x 95.125 (flat) = w =
oc MAX / 78.750 17 1 NATIONAL GUARD NG 803V THRESHOLD = x =
6 / DOOR MAX / 96.000 18 8 DOOR HINGE REINFORCEMENTS 9 GA COLD ROLLED STEEL 132 min. x 1.375 x4.500 =
DLO SIDELITE MAX 19A 8 3/8" FLAT HEAD EXPANSION SHELL ANCHOR BOLT 3/8" X5 (2 172" MIN EMBEDMENT) 3/8 X.5.000 —
84.000 HEIGHT DLO 198 6 3/8" FLAT HEAD WOOD SCREW/LAG BOLT 3/8" X 5 (3" MIN EMBEDMENT) 3/8 X 5.000 REMARKS BY | DATE
MAX / HEIGHT 19C | AS NEEDED |WIRE MASONRY ANCHOR 3/8 X 834 3/8 X8 3/4
20 |AS NEEDED [NATIONAL GUARD PRODUCTS 5050B-20 VINYL BULB 2018 IBC UPDATE CA [3.28.224
24.000 21A|AS NEEDED |ALL PURPOSE SILICONE CAULK
MAX m I 21B | AS NEEDED | DOW 995 SILICONE CAULK
oc : @ 22 | AS NEEDED |GLAZING TAPE
6 i 33.000 MAX 23 1 INACTIVE LEAF ASTRAGAL 14 GA COLD ROLLED STEEL 072 min X 1.70 X 95.125
i DOOR DLO 22,750 MAX 24 |AS NEEDED |CUT OUT REINFORCEMENT 16 GA COLD ROLLED STEEL 1053 min. x 1.677 x 620
I WIDTH L~ ioELTE L 25 8 STANDARD WT. 4 172" STEEL BALL BEARING HINGES 412" X4 172"
| lowntH  IFF 26 2 HONEYCOMB CORE (STEEL STIFFENED, POLYSTYRENE OPT,) A ENSTATATTON e SescR | =
! 27 1 SURFACE BOLT ANGLE REINFORCEMENT 3 GA STEEL ANGLE REINFORCEMENT | 250 X 1.6 X 15 RV hLOTTRE'ﬁLDEE o DEs CRO?\IEDDIT-I‘S':IES ﬂogi SFEQCEI';C
-— 4.000 28 | AS NEEDED |GLAZING BEAD 042X 750 X 625 SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
@ @ r : 29 4 C" CHANNEL 16 GA COLD ROLLED STEEL 5.75 X 750 X120 FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
@ > - 30 | AS NEEDED |#8 OVAL HEAD TEK SCREW (12" OC/6" FROM STOP #3 X 1.500 ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
—————————————— = e e 31 |AS NEEDED [8"CMU BLOCK FILLED WITH 2000 PS|MORTAR DOCUMENTS FOR USE WITH THIS DOCUMENT,
- TAILY, SHEET\@ gg AS NE1EDED \I;'V%Lg?DEgUC(::CI)(NCRETE 2000 PSI (MIN)
2.000 . 7 H 2.000 2.000 __|
MIN
N 2000 MIN MIN
MIN
INTERIOR
ELEVATION A &) STRIKE FASTENED
A\
PAIR DOOR W/ SIDELITES & TRANSOM 21224
: ® ®
MORTISE LOCK g
E:~:~ R ERR RO
oesseesseses aeessessaseate
SRR U“: BRRERERES
BUILDING DROPS INC
ACTIVE @ @ INACTIVE 398 E. DANIA BEACH BLVD. # 338
SEE GLAZING SEE GLAZING DANIA BEACH, FL 33004
DETAIL 1 E EXTERIOR DETAIL 1 FBPE CERT. OF AUTHORIZATION No. 29578
eSS /AN HORIZONTAL SECTION PrESIEETS
ALT. \2/ MORTISE LOCK
| | | | | pate: 03.,17.17
T T T T T T T T
| - N . . . -] DWG. BY: CHK. BY:
"
12" MAX. 6.00" MAX. MSS HFN
0.C. TYP FROM CORNER
C. TYP. TYP scate: - NTS
INSTALLATION ANCHOR
SEE THRESHOLD DETAIL pwG.# RDF020
S I L L SHEET:




3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 dl416 flush steel door.dwg

| 9.0%800;1 [!l é ;}6 Og.%oo_:.o%goo;l é é ;I&Og.%i)e.o%goo;l é [!l l;;'og.%oo
6.000 / D @
T <>, \@zz /27 | 4© |t
24.000
2000/ / o750 X \@ M/ / N
36.000 ’ '\/&X // DLO WIDTH @: HE'GHT/-@ // @ i
TS ] i
30.500 I 2;;2())(0 \i i H ]I \@
oc (_E I } H I m
| i e[
12';'1;))[()0 24.000 / I\@ /2\} :: I / 625"
81.00 m '%Acx / I v: H I I 78.750 / e
6 [ / b | MAX 96.000
v / : / IR : DOOR : speLte / MAX
NEAS: - L A |
N | e CEECa 1 I
= | i @ |
6 I 33.000 MAX ol |
N T @: |1 e W
] | H ! ! DLO WIDTH
. @ _/;E ] /—@ ’_—4.000
2.000 @ i \7( TN I; 2.000 2.000
MIN T ] __2’\-2?\'0 MIN — MIN
ELEVATION B
PAIR DOOR W/ SIDELITES & TRANSOM.
CYLINDRICAL LOCK WITH DEAD BOLT
ALT.

12" MAX.

O.C. TYP.

»IM

INSTALLATION ANCHOR
SEE THRESHOLD DETAIL

SILL

6.00" MAX.
ROM CORNER
P

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

BILL OF MATIERALS

~
Ilapulllie

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

398 E. DANIA BEACH BLVD., STE. 338
DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

BUILDING DROPS, INC.

DL 418 GLAZED DOORS
& ME416 FRAMES
CYL. W/ DB ELEVATION, ANCHOR
LAYOUT, BOM & DETAILS

PREPARED BY:
L

TITLE:

BUILDING DROPS

REMARKS BY

2018 IBC UPDATE CA

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

Item Qty Description Material Dimensions (in.)

1A 1 PR 70 5.750 DOUBLE SWING JAMB PAIR 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 86.000 (formed)

1B 1PR 30 5.750 DOUBLE SWING JAMB PAIR 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 36.000 (formed)

2A 1 98" 5.750 2" FACE DOUBLE OPENING HEADER 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 98.000 (formed)

2B 2 27" 5.750 2" FACE DOUBLE OPENING HEADER 16 GA COLD ROLLED STEEL .053 min. X 5.750 X 27.000 (formed)

3 1 MULLION 96" X 2" FACE 16 GA COLD ROLLED STEEL 053 min.X 5.750 X 96.000 (formed)

4 1 MULLION 24" X 2" FACE 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 24.000 (formed)

5 2 MULLION 24" X 2" FACE 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 24.000 (formed)

6 2 MULLION 122" X 2" FACE 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 122.000 (formed)

7 2 4" SILL 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 24.000 (formed)

8 2 HINGE REINFORCING FRAME 9 GA COLD ROLLED/HOT ROLLED STEEL |.132 min.x7.50x1.625

9 2 BASE ANCHOR 16 GA COLD ROLLED STEEL 053 min. X 1.875 X 1.875 (formed)
10A 2 TOP CHANNELS 16 GA COLD ROLLED STEEL 053 min.x 1.677 x.620 x 47.563 formed
10B 2 BOTTOM CHANNELS 16 GA COLD ROLLED STEEL 053 min_x 1.677 x 620 x 47.563 formed
10C 2 HINGE CHANNELS 16 GA COLD ROLLED STEEL 053 min.x 1.677 x 620 x 93.500 formed
10D 2 LOCK CHANNELS 16 GA COLD ROLLED STEEL 053 min. x 1.677 x.620 x 93.500 formed
11A 2 LAMINATED GLASS (34.750 X 75.000 X .312) Old Castle LAMINATED GLASS 34750 X 74750X 312
11B 2 LAMINATED GLASS (24.000 X 80.000 X .312) Old Castle LAMINATED GLASS 23750 X 79.750 X .312
11C 2 LAMINATED GLASS (24.000 X 36.000 X .312) Old Castle LAMINATED GLASS 23750 X 35.750 X .312
11D 2 LAMINATED GLASS (24.000 X 47.000) LAMINATED GLASS 23750 X 46.750 X 312

12 2 AIR LOUVERS (VLF-IGHRC) GLASS KIT 34.000 X 75.000
13B 1 DORMA CL859D X 34" FIRE LATCH CHLOCK
13D 1 DORMA DB050D DEADLOCK
13G 1 STRIKE 5001 118 STEEL

14 1 ROCKWOOD 585 SURFACE BOLTS
15C 2 CLOSER REINFORCEMENT 14 GA COLD ROLLED STEEL 072 min. X 1.677 X 6.000 X 18.000 (formed)
15E 2 FULL HEIGHT LOCK CHANNEL REINFORCEMENT 14 GA COLD ROLLED STEEL .072 MIN. X 1.677 X 6.000 X 93.500 (formed)
16 4 DOOR SKINS (PROJ. WELDED ON 2 1/2 CENTERS TO CHAN'Ls) |18 GA COLD ROLLED STEEL 042 min.x 49.515 x 95.125 (flat)

17 1 NATIONAL GUARD NG 803V THRESHOLD

18 8 DOOR HINGE REINFORCEMENTS 9 GA COLD ROLLED STEEL 132 min.x 1.375 x4 500
19A 8 3/8" FLAT HEAD EXPANSION SHELL ANCHORBOLT 3/8" X 5 (212" MIN EMBEDMENT) 3/8 X 5.000
19B 6 3/8" FLATHEAD WOOD SCREW/LAG BOLT 3/8" X 5 (3" MIN EMBEDMENT) 3/8 X 5.000
19C | AS NEEDED |WIRE MASONRY ANCHOR 3/8 X83/4 3/8X 8 3/4

20 |AS NEEDED |NATIONAL GUARD PRODUCTS 5050B-20 VINYL BULB
21A | AS NEEDED |ALL PURPOSE SILICONE CAULK
21B |AS NEEDED |[DOW 995 SILICONE CAULK

22 |AS NEEDED |GLAZING TAPE

23 1 INACTIVE LEAF ASTRAGAL 14 GA COLD ROLLED STEEL 072 min. X 1.70 X 95.125

24 |AS NEEDED |CUT OUT REINFORCEMENT 16 GA COLD ROLLED STEEL .053 min. x 1.677 x 620

25 8 STANDARD WT. 4 1/2" STEEL BALL BEARING HINGES 412" X 412"

26 2 HONEYCOMB CORE (STEEL STIFFENED, POLYSTYRENE OPT.)

Zt 1 SURFACE BOLT ANGLE REINFORCEMENT 3 GA STEEL ANGLE REINFORCEMENT 250 X15X15

28 |AS NEEDED |GLAZING BEAD .042 X .750 X 625

29 4 "C" CHANNEL 16 GA COLD ROLLED STEEL 575X 750X 120

30 |AS NEEDED |#8 OVAL HEAD TEK SCREW (12" OC/g" FROM STOP #8 X 1.500

31 |AS NEEDED |8" CMU BLOCK FILLED WITH 2000 PSI MORTAR

32 |AS NEEDED |POURED CONCRETE 2000 PSI (MIN)

33 1 WOQOD BUCK

INTERIOR
STRIKE FASTENED
W/ (2) 17 x 12-24 MS
=
I
o eeseseseses Neecessssists
SEE:E:E:E:E:E pEssssesiacie
ACTIVE @ INACTIVE
SEE GLAZING SEE GLAZING
DETAIL1 E EXTERIOR DETAIL 1
(SEE SHEET 8) (SEE SHEET 8)

/B\ HORIZONTAL SECTION

3/

CYLINDRICAL LOCK WITH DEADLOCK

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

pate:  (03.17.17
DWG. BY: CHK. BY:

MSS HEN
SCALE: NTS
owe. . RDF020
SHEET:

OF 1U




3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 d1416 flush steel door.dwg

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

BILL OF MATERIALS nap.hlin

Item Qty Description Material Dimensions (in.)
1A 1PR__ |705.750 DOUBLE SWING JAMB PAR 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 86.000 (formed) f { '|‘ |
152.000 1B 1PR__ |305.750 DOUBLE SWING JAMB PAR 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 36.000 (formed) D PS r‘a e S
MAX 2A 1 98" 5.750 2" FACE DOUBLE OPENNG HEADER 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 98.000 (formed)
24.000 47.000 47.000 24.000 2B 2 27”5750 2" FACE DOUBLE OPENING HEADER 16 GA COLD ROLLED STEEL 1053 min_X 5750 X 27 000 (formed)
MAX MAX MAX MAX 3 7 MULLION 96" X 2" FACE 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 96 000 (formed)
6.000 — - 6.000 6.000 — - 6.000 6.000 —} - 6.000 4 1 MULLION 24" X 2" FACE 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 24.000 (formed) 155 REPUBLIC DRIVE
9.000 —~ I+ 9.000 9.000 —~ I 9.% 9.000 —{~} [+ 9.000 5 z MULLION 24" X 2" FACE 16 GA COLD ROLLED STEEL 053 min_X 5 750 X 24 000 (formed) MCKENZIE, TN 38201
] L1 L1 Ll L1 L1 Ll 6 2 MULLION 122" X 2" FACE 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 122.000 (formed) PH: (800) 799-3667 FX: (731) 352-2556
I | | L | E— LI L1 Z 7 2 4"SILL 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 24.000 (formed)
6.000 D 8 2 HNGE RENFORCING FRAME 9 GA COLD ROLLED/HOT ROLLED STEEL | 132 min_x 7.50 x 1.625 .
T 22.750 / (4’@ = 9 2 BASE ANCHOR 16 GA COLD ROLLED STEEL 1053 min. X 1.875 X 1.875 (formed) - % ®
I MAX 10A 2 TOP CHANNELS 16 GA COLD ROLLED STEEL 1053 min. x 1.677 x 620 x 47.563 formed 5 ] €
24,000 / 45.750 MAX / TRANSOM / 24.000 10B 2 BOTTOM CHANNELS 16 GA COLD ROLLED STEEL 1053 min. x 1.677 x 620 x 47 563 formed o) SE e 8
36,000 iAX TRANSOM DLO \. 10C 2 HINGE CHANNELS 16 GA COLD ROLLED STEEL 1053 min. x 1.677 x 620 x 93.500 formed % % 4 cSwgd
: oc DLO WIDTH HEIGHT @ 10D 2 LOCK CHANNELS 16 GA COLD ROLLED STEEL 1053 min. x 1.677 x 620 x 93.500 formed Ow - OS"35%
i / / 1A D LAMINATED GLASS (34.750 X 75.000 X 312) Old Castle LAMINATED GLASS 34750 X 74.750 X 312 S 9 Z32Ta38
. . : : - 11B 2 LAMINATED GLASS (24.000 X 80.000 X .312) Old Castle LAMINATED GLASS 23.750 X 79.750 X_312 as CI> = Q3T8LE
5.000 ! ; ! ! L 1C 2 LAMINATED GLASS (24.000 X 36.000 X .312) Old Castle LAMINATED GLASS 23750 X 35.750 X 312 = 52 o SS8%3
I — b \@ @ L 4 11D D LAMINATED GLASS (24.000 X 47.000) LAMINATED GLASS 23.750 X 46.750 X 312 B r zy > = 272
L R I I 1 | I _/Gl\F a 12 2 AR LOUVERS (VLFIGHRC) GLASS KIT 34.000 X 75.000 N < =zzFss
{ f 1 13C 1 DORMA HCF9400SVR <© F%& Q33 &
30.500 24.000 I \5/ : \@ 15A 2 CONTINOUS HARDWARE REINFORCEMENT 14 GA COLD ROLLED STEEL 1677 X 6 X (DOOR HEIGHT - 11) 4% 03 = =
MAX 7 E | | m 15B 2 EXIT DEVICE RENFORCEMENT 14 GA COLD ROLLED STEEL 1677 X 5.313 X 14.000 (formed) Owm Eo D9
oc | 1 6 15C 2 CLOSER RENFORCEMENT 14 GA COLD ROLLED STEEL 1072 min. X 1.677 X 6.000 X 18.000 (form ® = § @ s o .
| 1 @ 16 4 DOOR SKINS (PROJ.WELDED ON 2 1/2 CENTERS TO CHAN'Ls) [ 18 GA COLD ROLLED STEEL 1042 min. x 49,515 x 95.125 (flat) < o @ o™ a-
56.000 | /C\ 1 17 1 NATIONAL GUARD NG 803V THRESHOLD _, o o) 2
124.000 I 4 | 18 8 DOOR HINGE REINFORCEMENTS 9 GA COLD ROLLED STEEL 132 min.x 1.375 x 4.500 @) o & o=
MAX 24,000 / |\@ / v / | / N 65 19A 8 3/8" FLAT HEAD EXPANSION SHELL ANCHOR BOLT 3/8" X 5 (2 1/2" MIN EMBEDMENT) 3/8 X 5.000 T 2 < =]
81.500 m MAX | 73.250 | —vp 198 6 3/8" FLAT HEAD WOOD SCREW/LAG BOLT 3/8" X 5 (3" MIN EMBEDMENT) 3/8 X 5.000 o o =
: 6 oc | MAX | 78.750 == 19C [AS NEEDED |WRE MASONRY ANCHOR 3/8X 83/4 3/8 X 83/ = I~ |
h DOOR | MAX 96.000 20 | AS NEEDED |NATIONAL GUARD PRODUCTS 5050B-20 VINYL BULB = o 2
/ o —i / DLO / (I SIDELITE MAX 21A|AS NEEDED |ALL PURPOSE SILICONE CAULK m—
84.000 HEIGHT DLO 21B [AS NEEDED |DOW 995 SILICONE CAULK REMARKS BY | DATE
MAX B :: T & || HElGHT 22 | AS NEEDED |GLAZING TAPE
=~ @_/ 23 1 INACTIVE LEAF ASTRAGAL 14 GA COLD ROLLED STEEL 072 min. X 1.70 X 95.125 2018 IBC UPDATE CA [3.28.22
24.000 | _ 1_/_ i 24 | AS NEEDED |CUT OUT RENFORCEMENT 16 GA COLD ROLLED STEEL 1053 min.x 1.677 x 620
MAX 'Ir | 25 8 STANDARD WT. 4 1/2" STEEL BALL BEARING HINGES 412X 412"
oc m | 33.000 MAX 1 26 2 HONEYCOMB CORE (STEEL STIFFENED, POLYSTYRENE OPT.)
' 6 x | DOORDLO —] I 27 1 SURFACE BOLT ANGLE RENFORCEMENT 3 GA STEEL ANGLE REINFORCEMENT _ | 250X 15X 15
v | WIDTH ( | 22.750 MAX 28 | AS NEEDED |GLAZING BEAD 1042 X_750 X 625
| | 4o SIDELTE i 29 4 "C" CHANNEL 16 GA COLD ROLLED STEEL 575 X_750 X 120
| | DLO WIDTH I 30 | AS NEEDED [#8 OVAL HEAD TEK SCREW (12" OC/8" FROM STOP #8 X 1.500 THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIQ)
e e ] 31 |AS NEEDED|8" CMU BLOCK FILLED WITH 2000 PSIMORTAR AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
> - @ ' /‘@ I 4.000 gg L NEEDED SV%%%ESU%?(NCRETE 2000 PSI(MN) FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
- ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
_______ _— = —_—— — DOCUMENTS FOR USE WITH THIS DOCUMENT.
: TAILY, SHEE?\@ m
2.000 7 2.000 2.000
MIN —| |- 2:000 MIN T MIN

MIN

ELEVATION C

PAIR DOOR W/ SIDELITES & TRANSOM.
SURFACE VERTICAL ROD @ ® 69

© ©

INTERIOR

. = : é “ Eé BUILDING DROPS, INC
(29 s = 28 CANIA BEACH, FL33004
ALT. @ FBPE CERT. OF AUTHORIZATION No. 20578
| | | | | SEE GLAZING SEE GLAZING
| i T T T i T T T DETAIL 1 ACTIVE EXTERIOR ACTIVE DETAIL1
N\ - (SEE SHEET 8) (SEE SHEET 8)

12" Ax. ] I«FR%%)"C“SF’;‘SER C\ HORIZONTAL SECTION 0310 15

ep

DORMA SURFACE VERTICAL ROD W/ PANIC
INSTALLATION ANCHOR / DWG. BY: CHK. BY:

SEE THRESHOLD DETAIL MSS H FN

SILL scate: ~ NTS

owe.#RDF020

SHEET:

OF 1CM




wod'sdoip3ulp|ing Mmm :g3M mmczn m_z_=.__=m

~

OF 1v

~ peym
ol Y £5z25
N 9 8ELY'YYL(1S6) XXV4 - <| 55285 3}
. = Q.
ih) 0 8L78-66€(7S6) :Hd Olm EZe2a m i 2
N Y00€EE 14 ‘HOV3A VINVA NmNNLHU o & T
= s~ 38 VINYA ‘3 86€ | E22508 B @
woo wmmmwm aA18 HOV ol|lS 555848 ..men.mw N|eT o
. EJIdov o a :
= G =iE| oNi‘sdoyaoniaung JEHE Al Rects Sz N
L . ng52=¢ % go < . (@)
o oz % ‘A8 Q3YVd3¥d L - A TR NI |w»
3o eSS PR ET0 _ — Y-
(. Sw W ODITn Y “Nr‘.MBm.m D 5
® ao QCSEGS : Z2<85 . N
0 258 S Ecgitg g L ™M o
n A OO =T o R~ 26%°
o LR SNOILD3S TVDILY3A S Cp5igy Y L Ol.\»
= (%) CzZZo«d ¥ ] >N ..
<) o )
0 S SINVYL 9LPIN B 213 5502032 4 g . BM T Bl IS
et - Er 8] — W]
Q I SH00d d3zvi1o 8Ly 1d o Ezor28 - el EC) 2|9«
a W o 25=30 < |2 SlS1=z
. o
d AL m MMWWE [aly fa wnlajwn
2
. o
= zz N
) SE o Z
2 -4 N M z m =
= o o Nw 0 T
p3 < o Zx B
> o ] Sz
=S ] [ 2Esba
O = [t ) 2 < o n @
[ =z o N — = - H—wno=
> — - BE =z
F O ) @] oz 5
w = — o == = S z
T NLH © ® 2|2 X233 3S
— ] O
M ST £ = o M% SE: 2
25 5+E Of hr
s 9 N o T3 50 o)
n 0ol oW w D.U/Z\WHE_ -
2 nhw QY 2205238 )| 2
o< w | Xa 2 w |2
m (%] — = N <a w ~ 0
= < < < [ E v
@ < 172 RE=IN = > wnis
I w5 > M
* N
10000000000000000000000000000000¢ [-% OO OO OO
S <L |55 e <3G
0000607000 000000000000000000000000000 ¢ C - e 00 0e e e ees s seseesstsescescssesset
HHHHHHHHHHHH—HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH — HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH W m
0000060000000 00000000000000000000000 ¢ —— U 1000000000000 00000000000000000000000 0 ¢ —
10000000000000000000000000000000000004 O00000000000000000000000000000COCC
1000001 0000000000000000000000000000004 1666806000000000060888800006060606066000000 ¢ [ Ne)
10 00000.0000000000000000000000000000004 O00000000000000000000000000000COCC
EHHH.MHMHMHmq.nMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHWWWM HMHMHMHM TR m HwHwHwHMHMHMHwHMHMHMHwHwHwHwHwHMHwHwHwHwHwHwHMHMHMHMHMHMHWWWWWHHHH w T |.. O
i < O o =
= N O W S Ll .M ANn TG
P EONG) > |3 = >
< ¢ N 2}
o a —
o o o (GRS o
~N X o P o
ey 5 T N < @)
N x & ) < w = g
2 o — I [i]
2 = oon > =
— w w .
0w x G) LN o W So LN
= ) (72) =0 w
0w T ~— 0 o
TE =sC
W “wZ
= o]
$20
— o
y >
— m E =z
o
m [a) — ;Y o
_ w = 2
n<g =2 £ Mm +33
o & % = x 5 R O Hwa
So0Sy Ha ° = Zax 27,
== w
hole 85 & = SESEQ
m=»n O E © © z (< Fuuneed
o lala s oin Z ~ — = - Hwo=
O XadxXE BN czEgy
=2 N =, 0O — - =
M — T m m =z [ m w Mn.u a _M y N
= - w o) = -, -
g = 3 N~ w O w o+ = e O
g U} =
w = v~ M AL -m]|O Z2axu2
Ll <C —
W o, s ozVv < <L —~.90=0 >
nal o= w TM D_UD_\WHE_ Hx
ww e D5 o>z J|32
nol b Xaz<aw - Ye)
> i < i/ . Wl a2
| niz3 = > /A wniss
0000000000000 0000 ¢ u A R —:IL
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH A U W MHMHMHM HMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHMHHHH A w w
10000000000000000000000000000000000090 ¢ M 16668060000000000608888000060606066000000 ¢ o
s 1= X EEX XXX O[S
1000000000000000000000000000000000000 — e e e 00 esesesse st eees 2
0000000000000000000000000000000000000 ¢ < 100000000000000000000006000000000000060¢ —
0000000000000000000000000000000000000¢ 1000000000000 00000000000000000000000 0 ¢ — 0
0000000000000000000000000000000000000¢ T 0000000000000 0000000000000000( (V]
ey _ = SIS . =|%3
: R o = 5 R
— N SwS
(N z Wl
[~ = O
o) V - <
@ @ S 2 LaE >
uNgE ~ Q
« Z = o)
o N < o =
= << - w o o
o — w T w -
z 083 3
w .
< Own W i Soe (I
L %) n w Soh
~ > W o0 o
w ETz
% = >0
& = .
- Z ot T,wn YEO
; (@) o o oc w Qo [ w =
=2 [N] = = -
= O Lo o o o T n oc T in Z
Sz o) = = o [m] OO0 ~
O < [Sojp o ] o wZ Z Vo .
= Q << T Ll o O < —
oml;, —2E0 = E E <= Qs>
¥l “nhz = = P =z =22 O=m
4 0 = =
- 0 ¥zZZ 2 FZu
] I o
w T =
/ mzv < > r &5 2| 23 o
—_ R ETRS
w O o o oy >
o O — =
P % — = [ — (U] 0 — Cun
o
! 3= F g -y =g 2.5 250z
22 O ¥ 325 QS -u O 2|3F8<
o= 5 o= e s R = wl Qlozge
L D wHW Ll S oV nies A
w - How < < < SwT
Hh B % nisy ut V| =3eF
[a) naol o w S ouw
wv 0O a oV ow b7, - @) TSw
> S0 -l |z V= -l Z |25 O
] w = =l I L
< |72 < |z% < |"E|223¢
A .9
Ol = Q|8” ] 3 Q| &Lk
(o)} ] 2Ea o n
-— — - | o S— S .M w
- RN -9 ~N : = Slzvzz
= * z Y o 5oy T
L (TN ] =0 . LLl <Wen
= 0O = W =
> = > guh > 6523
L [/ o 2 % n=Z09o
m O < ==z= 5
. OO wnZd
_ . oE2
. 0z53%
Z0w
= <gEQZ
ZZ ;S5 E
< w wd o
X9 (a]|Ty) win Ss| W=un) |EZ2T
O O45oa
S w —= = 0O Zwirun
[ o T Qu
> Z Ak o o oo
=y 3 O O ®) o NS
S>> > o o [ L
e O o w L
ow = = = E
S m = ﬂ H [}
on M o~
w

\_

\_

Wd 87:S 7z0z/0g/€ IMPTI00P [991S YsN|} 9THIP OZOIPI\(STTL P!) S9M| PIMOIIOG B SAUISPIS M 8THIP "S\SBMP\ZOOTP TOOTIP ‘000TIP ‘6664P TSSIP - [EIIWIANS 1P} 9TTO-ZZ-IPISI00P d[gndas\sidafoid\:s



3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 dl416 flush steel door.dwg

%" LAG BOLT
INSTALLATION ANCHOR

1 f
1.00" MIN.
EDGE

< DISTANCE

(SEE SHEET 8)

. 3.00"MIN. _ |
EMBEDMENT

/T HORIZONTAL SECTION

\6/ 3/8" X 5" LAG BOLT
JAMB - 2X WOOD FRAME

| HINGES SECURED TO FRAME
W/ (4) %" 10-24 MS SCREWS

L AND TO DOOR W/ (4) 4" X
10-24 MS SCREWS

SEE GLAZING

/ DETAIL 2 (SEE SHEET 8)
AN\

SEE GLAZING/)\
DETAIL1

(SEE SHEET 8)

OO0

o
ot
o
o
=
=
=

7K\ HORIZONTAL SECTION
\6/ VERTICAL MULLION

=
020000
HHH
HHHH
HHHH
HIHH
-0

O0000C
OO0
O0000C

N

\
Yoo eeee
XXXLOC

DID)

SEE GLAZING DETAIL 1

?

2.25" MIN.
EDGE
DISTANCE

T\ HORIZONTAL SECTION

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

CONCRETE/MASONRY
FILLED WITH GROUT
3/8" X 5" ITW/RED HEAD
SLEEVE EXPANSION BOLT

2.00" MIN. EMBEDMENT

\_B_/  EXPANSION BOLT WITH PIPE AND STRAP
JAMB - CONCRETE/MASONRY

CONCRETE/
GROUT FILLED
= 6" MIN. EMBEDMENT =~ "
1.625" MIN. MASONRY
EDGE (SEE INSTALLATION
DISTANCE NOTE 10,SHEET 1)

%" DIAMTER
WIRE ANCHOR

(SEE SHEET 7 FOR DETAILS)

SEE GLAZING \ / >
DETAIL1I— ~— = -
(SEE SHEET 8) P

/T HORIZONTAL SECTION

\\6/ JAMB - CONCRETE/MASONRY

WIRE ANCHOR

~
Republie

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

U.%
=2
~F < =)
%) w & g
o, agHegt
Q®n z Qz223%3%
OUJO x:\:f%f{%
Q= F Q2esss
ag 3 O 88883
NI Z2:2:%¢
<e g 358 "¢
A% = = s
Oouw o 28
= N N
T3 S @ g
1 T o o=
[m)] § ol 2
.. < (=
w o =
E & =
~ o =
-
REMARKS BY | DATE
2018 IBC UPDATE CA 13.28.224

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI]
IAND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

pate: 03.17.17

DWG. BY: CHK. BY:
MSS HFN

SCALE: NTS

owe. . RDF020

SHEET:

6

OF 1&




3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 d1416 flush steel door.dwg

DETAIL X

ITEM# 18
DOOR HINGE REINFORCEMENT

EXTERIOR

(8) DRILL & TAP FOR
12-24 MS

VINYL BULB

5050B-20 THRESHOLD
NATIONAL GUARD PRODUCT
803V THRESHOLD

*1/4" ITW TAPCON ——
INSTALLATION ANCHOR
W/ 11/4" MIN. EMBEDMENT

OO
) 000000000 ¢
OO0
) 000000000 ¢
JOOOOOOOCOCX
JOOOOOOOCOCX
) 000000006 (
) 000000000 ¢

10000000000 ¢

3000 PSI MIN.

— 1.00"

CONCRETE

A

#

<.

. Ba,

1.25" MIN.
EMBEDMENT

4 N a4 . a a4
2.5" MIN. EDGE
DISTANCE

1

THRESHOLD DETAIL (SILL)

(4) DIMPLE
BURR SIDE FOR 0.250
0.046+0.003 AND 0.375 DIA. HOLES
SECTION A-A
9GA
\ I!I I!I‘ I!I I!I I!I I!I I f
1 PP o I T
0.033 HEIGHT u T
OF PROJECTION
SPOTS 5/16" (4) TYP TOP
MUST BE FLAT
31/32" 55/8" —————=
(4) DIMPLE )<
0.046+0.003 «/
GAGE EDGE
R 3/16 (4) TYP.
. f
% 5 ® S
15/8 —%—|- f——@——:lv$® o | - L4
i © | . 4o Repyblic V>%4 pur ©
s ‘1 }
71/2

DETAIL Z

*NOTE: 803V THRESHOLD MAY BE INSTALLED WITH #12 WOOD SCREW TYPE INSTALLATION ANCHORS

MINIMUM 3/4" EDGE DISTANCE.

\_

WHEN INTO 2X WOOD BUCK SUBSTRATES (MIN. SG= 0.55) WITH MINIMUM 1-1/2" EMBEDMENT AND

ITEM #8
FRAME HINGE REINFORCEMENT

3/16'DIA. WIRE x 8-3/4"LONG

WIRE MASONRY ANCHOR APPLICATION

FOR FULLY GROUTED FRAME JAMBS

MIN. 2000 PSI GROUT FILLED (SEE INSTALLATION
NOTE 10, SHEET 1) & STEEL REINFORCING BAR
AS REQUIRED BY CODE

DETAIL D3

WIRE MASONRY ANCHOR

PREPARED OPENING CHANNEL
ANCHOR MINIMUM CONCRETE
STRENGTH AT SILL AND JAMB:
3000 PSI. FOR USE WITH 3/8" X 5"
DYNA SLEEVE BY REDHEAD/ITW

MIN. 2000 PSI GROUT FILLED (SEE INSTALLATION
NOTE 10, SHEET 1) & STEEL REINFORCING BAR
AS REQUIRED BY CODE

DETAIL D1

INSTALLATION ANCHOR W/ CHANNEL

TWO (2) 1/4" HWH ITW TAPCONS
MIN. 1-3/4" EMBEDMENT

MIN. 3" EDGE DISTANCE

MIN. 4" SPACING

NOTE: JAMB CORNER BASE PLATE IS ONLY
USED FOR NEW CONSTRUCTION AND IS
NOT POSSIBLE FOR EXISTING
CONSTRUCTION.

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

/‘@\#8 S.T.S. MIN.

TWO (2) 1/4" HWH ITW TAPCONS
MIN. 1-3/4" EMBEDMENT

MIN. 3" EDGE DISTANCE

MIN. 4" SPACING

BASE ANCHOR
14 GA. MIN.

ALTERNATE MULLION BASE
ANCHOR, JAMB BASE ANCHOR IN
REVERSE POSITION

DETAILY

MULLION BASE ANCHOR

TWO (2) 3/16" ITW TAPCONS
(1.875" MIN. 0.C.)

WELDED-ON
BASE ANCHOR

DETAIL W

JAMB CORNER BASE PLATE

TWIST-IN PREPARED

PIPE ANCHORS TACK

WELDED INTO PLACE

FOR USE WITH 3/8" X 5"

DYNA SLEEVE BY REDHEAD/ITW

MIN. 2000 PSI GROUT FILLED (SEE INSTALLATION

NOTE 10, SHEET 1) & STEEL REINFORCING BAR
AS REQUIRED BY CODE

DETAIL D2

INSTALLATION ANCHOR PIPE STRAP

~
Republic

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

°F
=" €
%) n vag g
x 2| Seisds
O$ = xﬁltg*%"
(@) o3 W TrQX s
02 zo D32%53
ox St 0E588%
Wi ES | Zszs5t
No 3s -
R &"—‘-’ — u
< O = » =
O c'/_sﬁoﬁ - -
922 Zx >_CD o
T3 £ | S
_| w B =
o o (]
i 5 =
E 2 =
— a g
REMARKS BY | DATE
2018 IBC UPDATE CA [3.28.24

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI]
IAND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

o

)
. EN o O
NSNS
k E.
FLORI .E: No 7377
BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

G
s

pate:  (03.17.17
DWG. BY: CHK. BY:

MSS HFN
SCALE: NTS
owe. . RDF020
SHEET:

/

OF 1U




3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 d1416 flush steel door.dwg

EXTERIOR

?

7

16 GAGE 5 3/4" DEPTH FRAME WITH
MITERED CORNER CONSTRUCTION
WITH TWO INTEGRAL TABS WHICH
INTERLOCK THE JAMBS TO THE HEAD

CORNER CONSTRUCTION DETAILS

)

5/8"
GLASS BITE

i

3/8" O.A. LAMINATED GLASS
CONSISTING OF:
1/8" H.S. GLASS,

0.075" STORMGLASS INTERLAYER

BY OLD CASTLE
1/8" H.S. GLASS

\ INTERIOR

12" MAX. O.C.

S

DOW 995 SILICONE

/4
GLAZING DETA

EPDM TAPE

L1

GLASS KIT BY AIR LOUVERS
MODEL: VLF-IGHRC

(ALT. VLF-EZHRC GLASS KIT
MAY BE USED UNDER
SEPARATE APPROVAL)

#8 TEK SCREW, 6" FROM CORNERS

EXTERIOR

0.75"

GLASS BITE

O-RING

EPDM TAPE

I=S=A=0=0=08=4

o
GLAZING DETA

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

1
8.00" O.C. J_

ITEM# 24 /

TACK WELDED TO
DOOR SKIN 8" 0.C
ALL SIDES.

. N N
Yy

T —— — — — ————————

U

DOOR CUT-OUT

3/8" O.A. LAMINATED GLASS

~
Republic

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

U o

ui z 3 .

& - 8

9 8 mu’*éoowg
X  xo Qogfpe
Q0 o= Ozz33%
OLUO< x:\:f%f{%
Q= af D32%53
Qéz*o Qo883
wpyr ovw Z§£i§;
N =52 = ZZad 3
< © o5 [ a

Ow =3 ]

922 £ o s o w
< 3 g @ o
— o & =
o 8 = il 2
[1=]

g : 2
= & =
[ o —
C-R

REMARKS BY | DATE
2018 IBC UPDATE CA [3.28.224

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI]
IAND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

CONSISTING OF: REINFORCEMENT DETAIL

1/8" H.S. GLASS,

0.075" STORMGLASS INTERLAYER
BY OLD CASTLE
1/8" H.S. GLASS

WELDED TO DOOR SKIN

N
< DOW 995 SILICONE
N\

\

\
1 EPDM TAPE
\
\I INTERIOR
! DoOR cuT-OUT

116 GA. REINFORCEMENT

/ TACK WELDED TO

, DOORSKIN 8" O.C.
/

#8 SEXBOLTS
" 0.C. ENTIRE
PERIMETER

/

IL 2

16 GA. (0.053") 1.667" X 0.62" CHANNEL

O s
WSIONAL B

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

pate: 03.17.17

DWG. BY: CHK. BY:

MSS HFN
SCALE: NTS
owe. . RDF020
SHEET:

8

OF 1U




3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 d1416 flush steel door.dwg

(

00

()

0.625
—| 1.938 L—2.254—J 1.5?63 -

FRAME - JAMB/HEADER
16 GA. COLD ROLLED STEEL

0.438
Sy

T

2

i}

I I S

CLOSER/LOCK/SURFACE BOLT STILE REINFORCEMENT
14 GA COLD ROLLED STEEL

1.156/==—
I 5.679
1.626
. 5.75
6.358
6.5
I 5.679 i
N !
1.499
.
‘ e | j
1.66 1.484
‘J —_— 4
0.75 1.156

MULLION
16 GA. COLD ROLLED STEEL

O

5.75

]

4" SILL

16 GA. COLD ROLLED STEEL

|
i

NATIONAL GUARD NG
ALUMINUM

¢
T

"C" CHANNEL
16 GA. COLD ROLLED STEEL

5.75

I

f=—2.25 —]

0.625 —{ '=— 0438
1.938 Lz.z&—‘ 1.5fsa -

@)

803V

5.750

&)

4.000

1.013

|<—>
14 GA. 17

L = FULL DOOR HEIGHT

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

—‘ 1.677
L

INACTIVE LEAF ASTRAGAL
14 GA COLD ROLLED STEEL

—

#10 x 1.25" SMS (2)

THROUGH STRIKE P
TO FRAME AND (2)

THROUGH EACH

BRACKET TO DOOR S

SLAB

CHANNEL REINFORCEMENTS
16 GA. COLD ROLLED STEEL

]

0.62

_(

GLAZING BEAD
STEEL

ROCKWOOD 585 SURFACE BOLT

8.314

@

~
Republic

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

BUILDING DROPS, INC.
DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

398 E. DANIA BEACH BLVD., STE. 338

DL 418 GLAZED DOORS
& ME416 FRAMES
COMPONENTS

PREPARED BY:
L]

TITLE:

|BUILDING DROPS

REMARKS BY | DATE

2018 IBC UPDATE CA 3.28.22

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ

SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

O s
WSIONAL Eas

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

pate:  (03.17.17
DWG. BY: CHK. BY:

MSS HEN
SCALE: NTS
owe. . RDF020
SHEET:

9
OF 1U




3/30/2022 5:28 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\5. dl418 w sidelites & borrowed lites (id 7118)\rdf020 d1416 flush steel door.dwg

( 1(’)\(AJ£)((JO *FASTENERS SHOWN ARE TYPICAL/MINIMUM \
47.000 47.000
iaX A [
——
doors-frames
@ Item Qty Description Material Dimensions (in.)
m D 1A 1PR__ [705.750 DOUBLE SWING JAMB PAR 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 86.000 (formed)
6 24.000 1B 1PR__ [305.750 DOUBLE SWING JAMB PAR 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 36.000 (formed)
2A 1 98" 5.750 2" FACE DOUBLE OPENING HEADER 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 98.000 (formed) 155 REPUBLIC DRIVE
2B 2 27" 6.750 2" FACE DOUBLE OPENING HEADER 16 GA COLD ROLLED STEEL .053 min. X 5.750 X 27.000 (formed) MCKENZIE, TN 38201
3 1 MULLION 96" X 2" FACE 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 96.000 (formed) PH: (800) 799-3667 FX: (731) 352-2556
4 1 MULLION 24" X 2" FACE 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 24.000 (formed)
5 2 MULLION 24" X 2" FACE 16 GA COLD ROLLED STEEL 053 min. X 5.750 X 24.000 (formed) .
6 2 MULLION 122" X 2" FACE 16 GA COLD ROLLED STEEL 1053 min. X 5.750 X 122,000 (formed) O
7 2 4" SILL 16 GA COLD ROLLED STEEL 1053 min_X 5.750 X 24.000 (formed) Za c
Jom 19A 8 3/8" FLAT HEAD EXPANSION SHELL ANCHOR BOLT 3/8" X 5 (2 1/2" MIN EMBEDMENT) 3/8 X 5.000 2 [T 8
6 198 6 3/8" FLAT HEAD WOOD SCREW/LAG BOLT 3/8" X 5 (3" MIN EMBEDMENT) 3/8 X 5.000 9 o L N80
19C |AS NEEDED |WIRE MASONRYANCHOR 3/8 X 8 3/4 3/8 X 8 3/4 x = oOs™s 5L
20 [AS NEEDED [NATIONAL GUARD PRODUCTS 5050B-20 VINYL BULB 8 $ < T eTagd
96.000 21A |AS NEEDED |ALL PURPOSE SILICONE CAULK as % QATTans
MAX. 21B [ AS NEEDED [DOW 995 SILICONE CAULK <0s SZR33
124.000 22 |AS NEEDED |GLAZING TAPE B X g R z
MAX 29 4 "C" CHANNEL 16 GA COLD ROLLED STEEL 5.75 X 750 X 120 NE Za =zzzgk
30 [AS NEEDED [#8& OVAL HEAD TEK SCREW (12" OC/6" FROM STOP #8 X 1.500 <© Sy 0338 &
31 [AS NEEDED [8" CMU BLOCK FILLED WITH 2000 PSIMORTAR TS5 A = E
96.000 32 |AS NEEDED |[POURED CONCRETE 2000 PSI (MIN) Ow wm D9
; 33 1 WOOD BUCK = N
MAX - = w
< o3 < o %
4 > a =
o o [ f £
~© < =
w a =
= & =
= a =
[--]
E—
REMARKS BY | DATE
2018 IBC UPDATE CA [3.28.24
__l_l__ 2.000 52,000
MIN 3
8080 DOOR
48.000 | [THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI]]
MAX [AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
o113 ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.
24.000 78.000 |
MAX
/ . I 48.000 | |- 24000 —~
QUALIFIED CONFIGURATION NOTES: ]
1) OVERALL UNIT DIMENSIONS AND PANEL DIMENSIONS SHALL NOT EXCEED THOSE = I D
SHOWN. 6 .
2) SEE GENERAL NOTES 5 FOR IMPACT RESISTANCE REQUIREMENTS l
3) DOOR PANELS SHALL BE INSTALLED WITH APPLICABLE REINFORCEMENTS AS SHOWN
IN ELEVATIONS A, B, & C ON SHEETS 2, 3, & 4 RESPECTIVELY. 2.000 84.000
4) ANCHOR LOCATIONS AND SPACING SHOWN IN ELEVATIONS A, B, & C ON SHEETS 2, MIN MAX
3, & 4 RESPECTIVELY APPLY TO CONFIGURATIONS SHOWN HEREIN. 124.000 \ STEENS \\i"a

.
.
teegee®

/R NV R4
6 86.000 ‘\\ Sy e‘f’o"
MAX \‘“}g 4%&*5
FLO R0 73778
96.000 BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
@ DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

_[._2000
MIN
| 2.000 2000 __|[_\_5

MIN MIN 4.000

£

7 ' pate: 03.17.17

DWG. BY: CHK. BY:

ELEVATION F MSS HEN

ELEVATION E

3070 DOOR scake:  NTS

owe_# RDF020

10

4080 DOOR
2

OF 1&




	Sheets and Views
	RDF020 DL416 Flush Steel Door-1
	RDF020 DL416 Flush Steel Door-2
	RDF020 DL416 Flush Steel Door-3
	RDF020 DL416 Flush Steel Door-4
	RDF020 DL416 Flush Steel Door-5
	RDF020 DL416 Flush Steel Door-6
	RDF020 DL416 Flush Steel Door-7
	RDF020 DL416 Flush Steel Door-8
	RDF020 DL416 Flush Steel Door-9
	RDF020 DL416 Flush Steel Door-10


		2022-05-27T13:37:51-0400
	Hermes F. Norero, P.E.
	I am approving this document




